PRACTICE PROBLEMS ON NET IONIC EQUATIONS

Answer Key to Practice Problems on Net lonic Equations:

1.

Molecular: AgNO;(aq) + KCl(aq) — AgCl(s) + KNOs(aq)

Total lonic: Ag*(aq) + NO; (aq) + K*(ag) + Cl (ag) — AgCl(s) + K*(ag) + NO; (aq)

Net lonic: Ag*(agq) + CI (ag) — AgCl(s)

Molecular: Mg(NOs); (ag) + Na.COs;(aq) — MgCOs(s) + 2NaNOs(aq)

Total lonic: Mg?* (aq) + 2NO; (aq) + 2Na* (aq) + COs2 (aq) — MgCOs (s) + 2Na* (aq) + 2NO; (aq)
Net lonic: Mg# (aq) + COs%(aq) — MgCOs (s)

Molecular: SrBr;(aq) + K:SOs(aq) — SrSO4(s) + 2 KBr(aq)

Total lonic: Sr2* (aq) + 2Br (aq) + 2K* (aq) + SO (aq) — SrSO4(s) + 2K (aq) + 2Br (aq)

Net lonic: Sr2* (ag) + SOsz (agq) — SrSO4 (s)

Molecular: MnCl; (aq) + (NH4).CO3 (aq) = MnCO;(s) + 2 NH4CI (aq)

Total lonic: Mn2 (aq) + 2CI (aq) + 2NH4 (aq) + COs% (ag) — MnCOs (s) + 2NHs* (aq) + 2CI (aq)
Net lonic: Mn2* (ag) + COs% (aq) — MnCOs (s)

Molecular: 2 Cr(NOs)s; (aq) + 3 FeSO4(aq) — 3 Fe(NOs): (aq) + Crz(SO4)s (aq)

Total lonic: 2Gr* (aq) + 6NO; (aq) + 3-Fe?* (aq) + 3-SO42 (aq) — 26¢* (aq) + 6NO; (aq) + 3-Fe? (aq) +
3-S04% (aq)

Net lonic: No Reaction

Molecular: KsPO4(aq) + AI(NOs)s (ag) — AIPO4(s) + 3 KNO; (aq)

Total lonic: 3K* (aq) + PO (aq) + AP*(aq) + 3NO; (aq) — AIPO,(s) + 3K* (aq) + 3NO; (aq)
Net lonic: AP* (ag) + POs* (aq) — AIPOq (s)

Molecular: Bel; (aq) + Cu;SOs(aq) — BeSO4(aq) + 2 Cul (s)

Total lonic: Be? (aq) + 2| (aq) 2 Cu*(aq) + SO (aq) — Be? (aq) + SO« (aq) + 2 Cul (s)

Net lonic: 2 Cu? (aq) + 21 (ag) — 2Cul (s)

Molecular: Ni(NO3); (aq) + 3 KBr (aq) — NiBr: (aq) + 3 KNO; (aq)

Total lonic: Ni3* (aq) + 3NO; (aq) + 3K*(aq) + 3Br (ag) — Ni**(aq) + 3NO; (aq) + 3K*(aq) + 3Br (aq)
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Net lonic: No Reaction

9. Molecular: 2 CoBr; (aq) + 3 K:S(ag) —> Co2Ss3(s) + 6 KBr (aq)
Total lonic: 2 Co® (aq) + 6B (aq) + 6-K* (aq) + 3 S (aq) — C0,S; (s) + 6K* (aq) + 6-Bf (aq)
Net lonic: 2 Co®* (aq) + 3S% (aq) — Co02S;(s)
10. Molecular: 3 Ba(NOs); (aq) + 2 (NH4)sPOs(aq) — Bas(PO4)2(s) + 6 NH4NOs (aq)
Total lonic: 3 Ba?* (aq) + 6NO; (aq) +6-NH,* (aq) + POs*> (aq) — Bas(POs)2 (s) + 6-NH4* (aq) + 6NO; (aq)
Net lonic: 3 Ba*(aq) + 2 POs* (aq) — Bas(POu)2 (s)
11. Molecular: 3 Ca(OH); (aq) +2 FeCl; (ag) — 3 CaClz (aq) + 2 Fe(OH)s (s)
Total lonic: 3-Ca?* (aq) + 6 OH (aq) + 2 Fe3* (aq) + 6CI (aq) — 3-Ca* (aq) + 6C} (aq) + 2 Fe(OH); ()
Net lonic: 2 Fe¥* (aq) + 6 OH (aq) — 2 Fe(OH)s (s) simplifies to: Fe®* (aq) + 30H (aq) — Fe(OH); (s)
12. Molecular: 2 RbF (aq) + CuSO4(aq) — Rb:SO4(aq) + CuF:(aq)
Total lonic: 2Rb*(aq) + 2F (aq) + Cu?* (aq) + SO.* (aq) — 2Rb* (aq) + SO (aq) + Cuw?* (aq) + 2F (aq)

Net lonic: No Reaction
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